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QUESTION 1

What does HPE Reference Architectures for HPE Simplicity provide?

A. solution pricing and possible discounts

B. recommended hardware configuration in ne Config Advanced (CA) format
C. validated configuration for a specific workload

D. comparison with equivalent competitor offerings

Correct Answer: C

QUESTION 2

Which functionality does HPE InfoSight for HPE SimpliVity provide?

A. balance workloads across HPE SimpllVity nodes based on utilization
B. recommendation for guest operating system settings optimization

C. automated firmware and software upgrades for registered customers
D. monitoring of virtual machine latency

Correct Answer: A

QUESTION 3

A customer wants to provide access to the HPE SimpliVity datastores for compute nodes running CPU-intensive virtual
machines. What should you tell the customer?

A. Itis supported to connect up to 5 compute nodes per SimpliVity node.
B. Additional license is required to connect ESXi nodes to SimpliVity datastores.

C. Connecting ESXi compute nodes is possible only when VMFS datastores are configured at SimpliVity Federation
level

D. Compute nodes must reside in the same cluster as HPE SimpliVity nodes.

Correct Answer: B

QUESTION 4

A customer has a remote office with very limited rack space. Which HPE SimpliVity model best meets this customer\\'s
needs?
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A. HPE SimpliVity 325 Genl0
B. HPE SimpliVity 380 Genl0 G
C. HPE SimpliVity 2600

D. HPE SimpliVity 380 Genl0 H

Correct Answer: C

QUESTION 5

What are the requirements for stretched cluster implementation?
A. Arbiter located in the primary site

B. Round trip latency below 50ms

C. A direct-connected network configuration

D. The same subnet for the storage network for both locations

Correct Answer: D
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